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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['T, '"Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]

" lopt’ ],

Plot [['I",

lopt
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

3250

3000

2750 -

2500

2250 -

2000

1750 ~

1500 -

Warning: col

[FVIEC'] is

5

10

20

25




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-3 0
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G3-3 BYiE) | GEBEK (FY) | EE (ERH/HK) | EBRERE (F/R) = R
06:30 203 120.0 2.592 =|  FiHPe06:30 REIFEF (REERE)
07:00 203 120.0 2.592 & FiHfe07:00 KEFEF (RFEERES)
07:45 203 120.0 2. 592 5| FEAQO7:45 KENFEFE CGRAMEEE)
08:20 203 120.0 2.592 M| FHAe08:20 KENFZEF (RAAIEEE)
08:50 203 120.0 2.592 fI| FHR@08:50 REIERF (KAL)
09:20 203 120.0 2.592 M| FHEA@09:20 KENFZF (FRFAIEEEE)
09:50 203 120.0 2.592 M| FHEAe09:50 KENFZEF (RAAIREE)
10:20 203 120.0 2.592 f| FiHR@10:20 RHMIEF (RALESR)
10:50 203 120.0 2.592 M|  FHEA@10:50 KENFZF (RFAEEE)
11:20 203 120.0 2.592 M| FHAe11:20 KRENFZEF (RAEEE)
11:50 203 120.0 2.592 M| FhHR@11:50 KRENF2ZF (REAEREE)
12:20 203 120.0 2.592 Bg| FHAe12:20 KEEF (KAERESE)
12:50 203 120.0 2. 592 5| FHAe12:50 KEIEFE CGRAEESE)
13:20 203 120.0 2.592 FA| hHR@13:20 RFMIZHF (CRALESR)
13:50 203 120.0 2.592 FH| FnHA@13:50 KRFEF CRAERE)
14:20 203 120.0 2. 592 FR| FhHA@14:20 KREFZF (RAAERES)
14:50 203 120.0 2.592 FA| FhHA@14:50 KRENFZEF (RAA{EEE)
15:20 203 120.0 2.592 M|  FiHfe15:20 REIEF (KREHERSS)
15:50 203 120.0 2.592 M| FHEAe15:50 KENFZF (RFAREE)
16:20 203 120.0 2.592 M|  FnHie16:20 RFFEF (KAERKE)
16:50 203 120.0 2.592 f| FiHR@16:50 KREMIEHF (RAKLESR)
17:20 203 120.0 2.592 = FiHFe17:20 REAEF (REAEZBE)
17:50 203 120.0 2. 592 5| FEAe17:50 KEIEFE CGRAMFESE)
24t 4669.0 (23)%) 2760.0 EWGHKEC: 2700.0, PH: 6.5

BEXRERLPH (10.35) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.35) 5FPH (6.5 REKK, FHE
[B;&%EC 3815.0 K&, EiFHKECAE&REER

H#[ERECE (2652. 0 vs 3815.0) s




FRV (ml plant-1)

ET (ml/hr/plant)

400

200

1.0

0.8

0.6

0.4

0.2

0.0
800

600

400

200

30

25

20

15

80

60 -

40 -

0.6

0.4+

0.2

0.0
0.0

G3-3_0, Day=28 (2025-06-09)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3043

T 1900 1824

055

- 3000

- 2000

FRV (ml d-1)

- 1000

optEC0=1800. 0, setECB=2700.0

optPH0=6. 5, setPHB=6.5

ByWoFl @D28 01:35: ET=3045 Fg=2760.0 Ro=76.0

7
- 4000
- 3000

- 2000

cumET (ml/plant)

- 1000

o
—_
N
w
N
(S}
=2}
~
o0}
©
—_
o
—_
—_
—_
N
—_
w
—_
=N
—_
ol
—_
=2}
—_
~
—_
o0}
—_
©
N
o
N
—_
N
N
N
w

obs', 'PPFD obs'] is missing

A A WarRing:

“obs!, 'To obs’] is missing

—— RH Warning: col ["RH obs",

"RHo_obs’ ] is missY

0.2 0.4 0.6 0.8 1.

0



hour

10:
11:
11:
12:
13:
13:
14:
14:
15:
15:
16:
16:
17:

0 N o o O

100

80

- 60

- 40

§_

B W R
B B S
S QZ)\\ %\%}

%
S



G3-3

BYiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

06:10 136 120.0 2.592 = RRiB006:10 Bz (RAKEE)
06:40 136 120.0 2.592 E[ BRi&e06:40 Bz (RFA{EREIEE
07:25 136 120.0 2.592 F BRige07:25 Bz (GREERSE)
08:25 136 120.0 2.592 5| {Rige08:25 B (KRAMERSE)
09:15 136 120.0 2.592 E BRi&e09:15 Bz (GRAERRE)
10:00 136 120.0 2.592 F[ BRi%e10:00 Bz (GRAERSE)
10:40 136 120.0 2.592 Sl {Ri%010:40 B3 (RAERSE)
11:15 136 120.0 2.592 El BRige11:15 Bz CGRAERESE)
11:55 136 120.0 2.592 = Rige11:55 Bah (RAEESE)
12:40 136 120.0 2.592 = {Rig012:40 B3 (RAERSE)
13:15 136 120.0 2.592 E BRige13:15 Bz (GRAERESE)
13:45 136 120.0 2.592 5| {Ri%e13:45 B3 (RAERSE)
14:15 136 120.0 2.592 =l RRiBe14:15 Bz (RFEAEESE)
14:45 136 120.0 2.592 E BRige14:45 Bz CGRAERESE)
15:15 136 120.0 2.592 =l Rige15:15 Bz (REAEESE)
15:45 136 120.0 2.592 = RRiB015:45 B (RFAEESE)
16:15 136 120.0 2.592 = RRiBe16:15 Bz (REAKEE)
16:45 136 120.0 2.592 El BRi&e16:45 Bz CGRAEREE)
17:15 136 120.0 2.592 F BRige17:15 Bz CGRAERSE)
2it] 2584.0 (190%) 2280.0 3ZHKEC: 2700.0, PH: 6.5

large discrepency for begining water status (220:27.0), set to 220 ml
REXEBIPH (10.52) 5i&EPH (6.5) RER KA, HFHE
REXFEBIPH (10.52) 5FMPH (6.5) RERK, EHRE
[Bl/&REC 3832.0 K&, ZiNFAIRECAE R IMIEER
PE[EIRECE (2698. 0 vs 3832.0) RS
EXRGEBPH (10.4) 5% EE (6.5) REKK, BRE.
LERGEBIPH (10.4) S51REEN (6.5) RERK, BERE.




G3-3_0, Day=27 (2025-06-08)
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o
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0ogl B | R | B5 [ | RE | 5 [ B5E [ RE | ”E | HS i 5 | B | B 5 | BB | BB 5 5 5 REREREEERS
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0.4 -
0.2 -
0.0
1500 ' ¥
[ ] | _obs
—@— PPFD obs
1000 -
500 -
0 A A
—_— T 4
30 - o T obs
® To_obs
20 -
4
80
60
40 - RH
[ ] RH_obs
[ ) RHo_obs
20

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=390, FV0=0 m=425, FV0=0 m=485, FV0=0

50 - —o— ME 99 1 —e— ME 50 - —— ME
45 1 50 - 45
40 -
45 -+ 40 -
35 -
40 35 4
30 -
T T T T T T T T T T T T T
400 600 800 1000 390 395 400 425 430 435 485 490 495
m=545,m FV0=0 m=595,m FV0=0 m=640,m FV0=0 m=685,m FV0=0
50 A
—o— ME 45 —— ME 45 —— ME 45 —o— ME
45 -
40 40 1 40 -
40 -
35 - 35 1 35 -
35 4
30 30 1 30
30 1
T T T T T T T T T T T T
545 550 555 595 600 605 640 645 650 685 690 695
m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0
55
. —o— ME —o— ME 55 1 —o— ME 55 —— ME
5 -
50 -
50
50 -
401 45 -
45 -
39 1 40 - 45
40 -
30 - 35 1 40 -
35 -
T T T 30 - T T T T T T T T T
725 730 735 755 760 765 785 790 795 815 820 825
m=845,m FV0=0 m=875,m FV0=0 m=905,m FV0=0 m=935,m FV0=0
56 -
55 4 —o— ME 55 0 —— ME 5. 0 - —e— ME —— ME
54 -
52.5 52.5
50 4 59 |
50. 0 50. 0
50 -
47.5
45 — 47 5 T 48 _
45.0
45.0 46 -
40 - 42.5 -
42.5 44 1
845 850 855 875 880 885 905 910 915 935 940 945



m=965, FV0=0 m=995, FV0=0 m=1025, FV0=0 m=1053, FV0=0

58
—o— ME 58 - —o— ME —o— ME —o— ME
56 - 58 -
56 58
54 - 56
54 -
52 - 56 -
54 -
50 - 52 -
54 -
48 - 50 - 52 1
46 48 50 4 59
T T T T T T T T T T T T
965 970 975 995 1000 1005 1025 1030 1035 1055 1060 1065
m m=390,m FV0=0 m=425,m FV0=0 m=485,m FV0=0
og | —@— MW 34 - —— MW 24 —o— MW
26 - 321 32 1
30 - 30 -
24 -
28 - 28 7
22 - 26 -
26 -
20 - T T T T T T T T T T T T T
400 600 800 1000 390 395 400 425 430 435 485 490 495
m=545,m FV0=0 m=595,m FV0=0 m=640,m FV0=0 m=685,m FV0=0
34 32 A
—— MW 32 —— MW —— MW —o— MW
32 - 30 4 30 -
30 -
30 - 98 28 -
28 -
28 26 - 26
26 -
26 - 24 24 1
24 -
24 - 22 - 22
22 -
545 550 555 595 600 605 640 645 650 685 690 695
m=725,m FV0=0 m=755,m FV0=0 m=785,m FV0=0 m=815,m FV0=0
—— MW —— MW —— MW 38 1 —— MW
30 1 34 1 i
36
36 -
28 - 327 34 -
30 39 34 7
26 -
i 32 -
28 20
24 26 - 30 4
28 -
29 24 - i
26 28
725 730 735 755 760 765 785 790 795 815 820 825



m=845, FV0=0

38

36 -

34

32 -

30 -

28

—0—

M_W

T
845

T T
850 855

m=965,m FV0=0

40

38 -

36

34

32 A

—0—

M_W

T
965

T
970 975

m=875, FV0=0

40 -

38 -

36

34 -

32 -

30 -

—0—

M_W

T
875

T T
880 885

m=995,m FV0=0

40 A

38 A

36

34

32 -

—0—

M_W

T
995

T
1000

T
1005

40 A

38 -

36

34 1

32 -

30

40 -

38 -

36

34 -

m=905, FV0=0

—0—

M_W

905

9i0 9i
m=1025n FV0=0
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——

M_W

T
1025

T
1030

T
1035

m=935, FV0=0

38 A

36

34 -

32 A

30 -

—0—

M_w

T
935

T T
940 945

m=1055m FV0=0

42

40 -

38 A

36

34 -

—0—

M_W

T
1055

T
1060

T
1065
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G3-3

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

06:05 140 120.0 2.592 5| {Ri%@06:05 Bz (FAERSE)
06:45 140 120.0 2.592 | 1Ri%e06:45 B (RERESE)
07:30 140 120.0 2.592 E 1BRi&e07:30 Bz (GRAERSE)
08:35 140 120.0 2.592 = {Ri%@08:35 B (RAERSE)
09:30 140 120.0 2.592 = {RRi8009:30 B (RFAEEE)
10:25 140 120.0 2.592 =l RRiB010:25 Bz (REAEEE)
11:15 140 120.0 2.592 =l Rige11:15 Bz (GRAEESE)
12:05 140 120.0 2.592 =l {Rige12:05 B3 (RAERSE)
12:55 140 120.0 2.592 = RRiBe12:55 B (REAKEE)
13:35 140 120.0 2.592 E| {Rig013:35 Bah (RE{ERSE)
14:10 140 120.0 2.592 E BRige14:10 Bz CGRAERESE)
14:45 140 120.0 2.592 = RiB014:45 Bz (REAKEEE)
15:20 140 120.0 2.592 E BRige15:20 Bz (GRAERERE)
15:55 140 120.0 2.592 F BRige15:55 Ba1 (GRAERE)
16:30 140 120.0 2.592 =l RRiB016:30 B3 (REAKEE)
17:05 140 120.0 2.592 El BRige17:05 Bz (GRAERESE)
Bit] 2240.0 (167%) 1920.0 32 3KEC: 2700.0, PH: 6.5

EIREBIHCRIRAREZ I (140 vs 207.0))

ERIASLPRIEHE81. 0 ml.

FEREBIPH (10.49) 5igFEPH (6.5) REK K, T
REXRERIPH (10.49) 5FMPH (6.5) REKK, HFHRE
LRGEBIEC (2765.0) S51REIEY (2340.0) REK K, BHHRE.
LORGEBIPH (10.5) 5i&EE (6.5) wERKK, BRE.
LERGERPH (10.5) SiRBIE (6.5) RERK, BRE.




G3-3_0, Day=26 (2025-06-07)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1539
100 4 1500
- 1000
730
- 500
13 Warning: lcol [FVI',| "FVO’'] missing 32
0 + - 0
100 4 mm V| — ME #
FRV maxM | 20
75 4
- 40 w
50 A =
- 30
25
- 20
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
3200 4 optECO=1800. 0, setECB=2700.0 ——  ECBx10% f
o ECC
3000 -
2800
2600
2400 -
o o o ) ) ) e 060 0 0000
104 optPHO=6.5, setPHB=6.5 —>—  PHBx10% f
o PHC
8_
-------------------- e P —
6_
300 4 N = _ _ 4
Bylnl:t @D28 01:35: ET=863 Fg=960.0 Ro=32.0
: L 2000
200 ~ i
|
100 i $—8 88 | 1000
|
—o—1L6—0—0—o_ I\\
i G- -
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
5 5 5 i 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G A
1
. . — — — - 2000
= = = 1
200 - ByEt @D26 19:08: ET=1066 Fg=1120. 0 Ro=nan o o—o
o—eo—o |
100 1000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 5 5 i 5 5 5 i 5 5 5 A B 5 5 A B B B G B B B G
1
N — _ _ ° - 2000
200 ByWoF:K/ @D28 01:35: ET=1535 Fg=1920.0 Ro=382.0 & & 4 & :
1
|
] B EE E N - 1000
100 : ~y
| I \\\\\\\\\\
' . [ |
1.0 — '—: S . 4 — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == HEE ES ES == E3 ES ES == E3 ES ES
0.8 4 M8 5 G A B 5 G A B 5 G A B 5 G A B 5 G A B 5 G A
0.6 -
0.4 1
0.2 A
0.0
1500 1 —_— 4
[ ] | _obs
—@— PPFD obs
—_— 4
80 RH
o RH_obs
o RHo_obs
60
40
3_.
e v #

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=345, FV0=0 m=405, FV0=0 m=465, FV0=0

45 —— M_E —o— ME 50 ® M_E
50 A
40 - 45
45 -
35
40
40 ~
30
35 A
25 - 35 -
-— ME
T T T T 20 - T T T T T T 30 - T T T T T
400 600 800 1000 345 350 355 405 410 415 466 468 470 472 474
m=545,m FV0=0 m=615,m FV0=0 m=685,m FV0=0 m=755,m FV0=0
- MNE - MNE 10 4 - MNE 40 - - ME
40 -
40 -
- 35 -
35 - 35
35 A
- 30 -
30 - 30
30 A
- 2 -
25 25 5
25 A
T T T T T T T T T T T T
545 550 555 615 620 625 685 690 695 755 760 765
m=800,m FV0=0 m=835,m FV0=0 m=880,m FV0=0 m=920,m FV0=0
45 - MNE - MNE 45 —-o— MNE - MNE
45 45 -
40 ‘0.
40
40 -
35 +
35 35 1
35
30 A
30 - 30
30 A
25 T T T T T T T T T T T T
800 805 810 835 840 845 880 885 890 920 925 930
m=955,m FV0=0 m=990,m FV0=0 m=1025n FV0=0 m
55
-— ME -o— ME —@— ME - MW
50 A 50
30
50 A
45
45 25
45 -
40 - w0 20
40 -
35 1 |
35 15
955 960 965 990 995 1000 1025 1030 1035 400 600 800 1000



m=345, FV0=0

19 +

18

17 4

16

15 4

14 4

—— MW

345 3%0 3%5
m=615,n FV0=0

22 A

21 -

20 -

19 4

18 1

—o— MW

615 650 6&5
m=835,n FV0=0

28

26

24 -

22 -

20 ~

—— MW

835 8&0 8&5
m=990,n FV0=0

32 -

30

28

26 -

24 ~

-o— MW

i

990 995 1000

24

22 -

20 A

22 -

20 -

18

16

30

28 A

26

24

22 -

20

32 -

30 A

28 -

26 A

m=405, FV0=0

06 —o— MW
405 410 415
m=685,m FV0=0

—— MW
685 690 695
m=880,m FV0=0

—o— MW
880 885 890
m=1025m FV0=0

‘/,Q

1025 1030 1035

m=465, FV0=0

30

28

26 -

24

22 -

—0—

MW

466

T T T
468 470 472

m=755,m FV0=0

T
474

21 4

20 ~

19 4

18 +

17 4

16 15

——

M_W

755

T T
760 765

m=920,m FV0=0

30

28 -

26 -

24 -

22 -

—0—

M_W

920

925 930

m=545, FV0=0

28 -

26 A

24 ~

22 A

20 -

—— MW

545

5é0 5%5
m=800,n FV0=0

23 A

22 -

21 -

20 A

19

18

—o— MW

800

865 8i0
m=955,n FV0=0

30 A

28 -

26 A

24 -

—o— MW

955

960 965
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G3-3

BfiE) | GEBATK (RY) | EHRE (EH/K) | ERERE (B/R) | XS ERE

05:50 138 120.0 2.592 = {RRiB005:50 Bz (RAEEE)
06:25 138 120.0 2.592 E 1BRi&e06:25 Bz (RFA{EREIEE
07:15 138 120.0 2.592 F|  {Ri&e07:15 B3h (RE{EREE)
08:00 138 120.0 2.592 5| {Ri%@08:00 Bz (KRAAMERSE)
08:35 138 120.0 2.592 F  1BRi%e08:35 BE1 (RAERE)
09:15 138 120.0 2.592 F[ BRi1%e09:15 Ba1 (GRAERESE)
10:00 138 120.0 2.592 =l {Ri%@10:00 B3 (RAERSE)
10:45 138 120.0 2.592 F BRi%e10:45 Bz (GRAERESE)
11:25 138 120.0 2.592 =l Rige11:25 Bah (GRAEESE)
12:10 138 120.0 2.592 =l Rige12:10 B3 (GRAERSE)
12:55 138 120.0 2.592 E BRige12:55 Bz (GRAERESE)
13:30 138 120.0 2.592 5| {Ri%e13:30 B3 (RAERSE)
14:00 138 120.0 2.592 = RRiB014:00 Bz (RFAEEE)
14:30 138 120.0 2.592 E BRige14:30 Bz CGRAERESE)
15:00 138 120.0 2.592 5| {Ri%e15:00 B3 (RAERSE)
15:30 138 120.0 2.592 =l RRiB015:30 B (RFAEEE)
16:00 138 120.0 2.592 =l RRiB016:00 Bz (RAKEE)
16:30 138 120.0 2.592 El BRi&e16:30 Bz CGRAEREE)
17:00 138 120.0 2.592 E[ BRige17:00 Bz CGRAERSE)
23t 2622.0 (190%) 2280.0 3ZHKEC: 2700.0, PH: 6.5

EREB AT RIRIE R (300 vs 207.0))

FRINKPREBE174.0 ml.

large discrepency for begining water status (220:54.0), set to 220 ml
RERSERIPH (10.53) 5i&EPH (6.5 REKK, BT

REXJEBIPH (10.53) 5FMPH (6.5) RERK, FHRE

ERGEBIEC (2844.0) SHEEIEIN (2340.0) RERK, BHWE.

LRGEBPH (10.4) 5igEE (6.3) REKK, BHRE.

LERGEBIPH (10.4) S5iREEY (6.5) RERK, HRE.



G3-3_0, Day=25 (2025-06-06)

100d VI.VO.FRV,ET = VI, VO, FVI, VO, FRV, ad jFRV, ET 1933 2000
- 1500 4
E
- 1000 —
50 730 3
580 5530/ 692 =
- 500 "
18 Warning: lcol [FVI',| "FVO’'] missing i3
208 .
_ (Y — ME 49’0
T FRV maxM
é 150 A - 40
S [ =l N e e [ T [ e e R R i
100 - !
E - 30—
= 50
o - 20
1.0
4
0.8 +
0.6
0.4+
0.2+ - —1—
Warning: lcol ["WC1',  "WC2'] missing
0.0
{ optEC0=1800.0, setECB=2700.0 ——  ECBx10% ft
3200
o ECC
3000 ~ ¢ > > > H—X
°
2800 ° o g P
®
----------------------- T e i sl Sl e e T LT e et
104 optPHO=6.5, setPHB=6.5 hd hd ——  PHBx10% f
o PHC
8_
6_
400 1 . 4
o Bylnit @D28 01:35: ET=605 Fg=720.0 Ro=0 3000 =
S 300 - i s
e ! - 2000 £
< 200 A i E
= 1
= ' - 1000
"] R o i T e 3
1 e
Y - - —a—— —T 0
4004 O 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 %2z % | ™ A I I 0 N I 0 O I B
c 1 c
= 3001 ByEt @D25 19:07: ET=718 Fg=734.0 Ro=nan - =
< | - 2000 £
< 200 A i E
= 1
~ - 1000 w
— 100 - t\d:\a o ® 5
H ‘ . 1 \\
0 i - - 0
4004 O 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 %5z % | & N N A I I I I N R N R R R E 2R 2R RS E S I
c 1 c
< 3001 ByWoFyv @D28 01:35: ET=1935 Fg=2280.0 Ro=446.0 <
< : -2000>
§200— : E
= [ L 1000 iz
b o Le o | s
1.0 — P 0
0 1 2 3 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0sl B BB | B | M | M5 | fE | RE | RE | FE | P | B | e | M | M| R | R |Bn %% %5 5] B
0.6
0.4+
0.2+
0.0
1500 A —_ 4
[ ] | _obs
1000 ~ —@— PPFD_obs
500




50

45 -

40 -

35 A

30 -

25 -

20

M_E

1.0

T T T
700 800 900

m=515,m FV0=0

T
600

T
1000

0.8 -

0.6

0.4 A

0.2 -

0.0

Warning: col ["M_E’] missing

0.2

T T
0.4 0.6 0.8

m=945, FV0=0

—_

50 A

45 -

40 -

35 A

30

25 A

—0—

M_E

945

1.0

950 9é5
m=435,n FV0=0

0. 8 A

0.6

0.4 A

0.2 A

0.0

Warning: col "MW ] missing

0.0

0.2 0.4 0.6 0.8

1.0

m=375, FV0=0

0.8 -

0.6

0.4~

0.2~

0.0

Warning: col ['M_E'] missing

0

0 0.2

T T
0.4 0.6 0.8

m=665, FV0=0

—_

35 A

30 A

25 -

20 -

—o—

M_E

665 670 675

27.

25.

22.

20.

—— MW

700 800 900

m=515,m FV0=0

600

1000

Warning: col "M W ] missing

.0 0.2

0.4 0.6 0.8

1.

0

1.0

m=395, FV0=0

0.8 -

0.6 A

0.4+

0.2+

0.0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=805, FV0=0

—_
o

35 A

30 A

25

20 -

—o— ME

805

1.0

8%0 8%5
m=375,n FV0=0

0.8~

0.6

0.4+

0.2+

Warning: col "MW ] missing

0.0

0.2

0.4 0.6 0.8

m=665, FV0=0

—_
o

20 -

19

18 1

17

16 1

—O—

M_W

665

670 675

1.0

m=435, FV0=0

0.8 -

0.6 -

0.4 -

0.2 4

0.0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=905, FV0=0

35

30

25 A

20 A

—o— ME

905

1.0

9%0 9%5
m=395,n FV0=0

0.8 -

0.6

0.4 -

0.2 A

Warning: col "MW ] missing

0.0

0.2

0.4 0.6 0.8

m=805, FV0=0

—_

19 4

18 4

17 +

16 1

15 1

14 4

—— MW

805

810 815




m=905, FV0=0

19 +

18

17 4

16 -

15 4

14

M_W

905

T
910

915

m=945, FV0=0

—— MW
27.5 -
25.0
22.5 -
20.0 -
17.5 A
T T T
945 950 955
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G3-3

BfiE) | GEBATK (RY) | ERE (EAH/K) | ERERE (B/R) | XS R

07:40 138 120.0 2.592 & ’Ri%e07:40 Bzh (RAERESE)
08:10 138 120.0 2.592 & Bi%@08:10 B3h (FKAFEREE)
08:50 138 120.0 2.592 |&& 1B2i%@08:50 B3h (FKAIEREEE)
09:20 138 120.0 2.592 e ]Ri1%@09:20 Bzl (RFAERSE)
09:50 138 120.0 2.592 A BRi&@09:50 Bz (RFAEREEE)
10:20 138 120.0 2.592 A Bi%@10:20 B3h (RAHEEEE)
10:50 138 120.0 2.592 FA ]R1%@10:50 Bzl (RAERSE)
11:20 138 120.0 2.592 ] BRige11:20 Bzh (REERESE)
11:55 138 120.0 2.592 A Bi%@11:55 B3h (KRAHEESE)
12:25 138 120.0 2. 592 e BRige12:25 Bzl (GREERSE)
13:00 138 120.0 2.592 & Bi%@13:00 B3h (KRABERE)
13:30 138 120.0 2.592 |B = i18@13:30 B3h (KRBERKSE)
14:00 138 120.0 2.592 & Bi%@14:00 Bzh (kPBEREE)
14:30 138 120.0 2.592 (%= Ri%e14:30 Bz (GRAERESE)
15:10 138 120.0 2.592 |B & Bige15:10 Bzh (RBERKSE)
15:55 138 120.0 2.592 (£ =| ###iT015:55 Bzl CGRAEESE)
16:35 138 120.0 2.592 & Bi%@16:35 B3h (KRAEREE)
17:25 138 120.0 2.592 & Bige17:25 Bah (RAERSE)
24t 2484.0 (18X%) 2160. 0 3ZHKEC: 2700.0, PH: 6.5

EREBRIELL TR (0.62 vs 0.56)), AIRER ZREIENREEIRK

LOREBIRTC R IR R E Y (138 vs 207.0))
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